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Evaluate each expressiow:

a*(3b+5) +c ifa=2,b=6,c=4
;9-'(3*(-9* 5) < 4
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qoals aligned to common core standaras:

® You Will understand how the real
number system breaks doww.

® You will be able to Ldentify the
properties.
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Whole Numbers (W)

Positive numbers starting with 0
ul 1! 2! 3! 4! 5!
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Numbers
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cannot be written as a
fraction, non-repeating
and non-terminating
decimals, square roots
of non-perfect squares
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Which set or sets of numbers do the
following belong tn?

1++/9 11 1.75
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Additive Identity

What can you add to a number so that
it never loses its identity?

For any number a, the sum of a and 0 Is a.

a+0=a

1 +0=7




Additive Inverse

What is the oppositve of a positive number?

A number and its opposite are additive
inverses of each other.




Multiplicative Identity

What can you multiply a number by so that
It doesn't lose its identity?




Multiplicative Property of Zero

What can you multiply a number by so that it
IS always zero?




Multiplicative Inverse

What can you multiply a number by so that
the answer is always 17

*mulitply by the reciprocall!




Reflexive Property

You want the same thing on both sides of
the equal mark.

A quantity i1s equal to itself.




Symmetric

The problem = the answer and the answer =
the problem. It doesn't matter how you write
It.

2+3=0thend5=2+3




Transitive

Ifa=bandb=c, thena=c.

2+3=4+1and4+1=5,then2+3=5




Substitution

Think about what substitution means.
You replace one thing with another.

If x = 2, then 3x = 3(2).




Commutative

Does order matter when you are adding or
multiplying numbers?

The order in which you add or multiply
numbers does not change their sum or
product.

a+b=Db+a a(b) = b(a)

4+5=5+4 2(3) = 3(2)




Associative

When adding or multiplying, does it matter
how you group numbers?

The way you group three or more numbers
when adding or multiplying does not change
their sum or product.

(@+b)+c=a+(b+c) (a*b)c=a(b”c)

(1+2)+3=1+(2+3) (1*2)3=1(27* 3)




Distributive

Distribute the number outside of the
parentheses to everything on the inside.




Can you ldentity the Properties??

. X+0=Xx

. xX(0)=0

X+ 1=x+1

. 3+4=7then/=3+4
. (3/4)(4/3) =1

. 1+2=4-1,4-1=3,s01+2=3
. X(1) =X

. 2(3) = 3(2)

9. 4+5)+2=4+(5+2)
10. If x =6, then 5x = 5(6)
11. 4+ (-4)=0

1
2
3
4
5
6
{
8




qoals aligned to common core standaras:

® You understanod how the real numiber
system breaks dowwn.

® You cawn ioentify the properties.



Aww, how cute. He has
an imaginary friend!
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Assighment: Worksheet




